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b
Calculate the product. Decompose the multiplication problem as shown in example a).
155 - 5 =7 1 78 - 3 =7
1 0 0 5 = 5 0 0 3 =
5 0 5 = 2 5 0 3 =
a) 5 -5 = 25 b) 3 =
1 5 5 5 7T 7 5 1 7 8 3 =
- 9
5 9 7 2 2 1 1 4 /
4 —
7T = i —
c) 7= d) i —
o 2 ’ 2 1 1 4 =
= 9
2 1 2 3 : 56 5 _ 9
3 =
3 5=
e) 3 f) 3 =
2 1 2 - 3 = b 0 - 3 =
1 3 7 2 = 7 1 3 7 6 = 7
2 — 6 =
2 = 6
g) 5 — h) 6 =
1 3 7 2 = 1 3 7 6 =
1 6 5 3 =7 3 49 2 = 7
3 - 2 —
. 3 = _ 2 =
1) 3 = J) 9 =
1 6 5 3 = 3 49 2 =
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Calculate the product. Decompose the multiplication problem as you do so.
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Calculate the product. Decompose the multiplication problem as shown in example a).

w O

Wlw O O

WlWw W W

OO O O

WIW W ww

(o> Nep)

| Ot

Ut Ot O Ot

www.dw-math.com

?

8 5
8 0

DO D

Wl W Wl w

ENIENEEN RN | BN

Page 2

smp-9523-3/SDXX



— 9
45 4 Z — 2 9 6 = 7
9 B 2 0 6
g) 4 9 - h) 6 =
4 5 4 2 = 2 9 6 =
1 3 3 7T =7 4 9 2 2 ?
7T = 2 =
. 3 0 7T = . 9 0 2 =
i) 7 = ) 2 =
1 3 3 7T = 4 9 2 2 =
4)
Calculate the product. Decompose the multiplication problem as shown in example a).
2 46 - 3 =7 19 2 3 = 7
2 0 0 3 = 6 00 3 =
4 0 3 =1 2 0 3 =
a) 6 - 3 = 1 8 b) 3 =
2 4 6 3 7 3 8 1 9 2 3 =
1 5 6 2 = 7 2 27 4 = 7
2 2 0 0 4 =
2 2 0 4 =
c) 6 2 = d) 7 4 =
1 5 6 2 = 2 27 4 =
1 2 8 4 = 7 1 75 5 = 7
4 - 5 e
4 5 =
1 2 8 4 = 1 75 5 =
1 4 3 4 ? 2 5 4 3 = 7
4 — 3 =
4 0 4 = 5 0 3 =
g) 3 . 4 - h) 4 -3 =
1 4 3 4 2 5 4 3 =
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7 8 7 = 2 8 6 9 = ?

7 0 7 = 9 —
i) T = j) 9 =

7 3 7 = 8 6 9 —
Good Luck!
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